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Scalenae muscles:
       1.All the following statement are true about Scalenus Anterior
        , EXCEPT:

a.. Lies deep in the root of the neck, behind sternomastoid
b. Origin: Transverse process of C 3,4,5 & 6.
c. Insertion: Scalene tubercle of 1st rib.
d. nerve supply Ant. Rami of C 4,5 & 6.
e. Elevates 1st rib, medial rotation & flexion of cervical vertebrae."lateral"
2.All the following are infront for Scalenus Anterior , EXCEPT:

      a. Prevertebral fascia

b. phrenic nerve 

c Suprascapular & transverse cervical arteries .

d. external J.V 

e. Subclavian vein

3. Regarding the Relation of Scalenus anterior  all of the following are true, EXCEPT:

A. Post:  Scalenus medius,  root of brachial plexus AND cervical dome of pleura

B. Med: Vertebral vessels, inferior thyroid artery thyrocervical trunk, sympathetic trunk & thoracic duct in Lt side

C. Lat: Trunks of brachial plexus, Roots of phrenic nerve .

D. posterior and lateral may found subclavian artery .  

 E. thoracic duct is found only in the RT side ."Lt"
4. Regarding the Scalenus Medius  the incorrect statement:

A. It is the largest of scalene muscles  and it lies Deep & lateral to scalenus anterior

B. it the same action of Scalenus posterior  . " Scalenus Anterior"
C.take Origin from Transverse process of  Atlas (Axis) & the following 5 cervical vertebrae

D. Inserted in Upper surface of 1st rib behind groove for subclavian artery

E.  take nerve supply from Ant. Rami of cervical nerves, ( C3-8).
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5.Regarding the Scalenus posterior  which statement is TRUE:

A. Origin: Transverse process of upper cervical vertebrae. "lower"
B. Insertion: inner surface of 2nd rib. "outer"
C. Nerve: Ant rami of upper cervical nerves. . "lower"
D. Action: Elevates 2nd rib  medial flexion of cervical vertebrae . "lateral"
E. It may be absent or fused with scalenus medius
6. Regarding Cervical plexus all of the following are true, EXCEPT:

A Formed by Ant. Rami of upper 4 cervical nerves And share in formation of ansa cervicalis.
B. Lies infront of levator scapulae, scalenus medius 

C. Covered by prevertebral layer of deep cervical fascia

D. Lies behind carotid sheath, IJV deep to sternomastoid muscle

E. it gives branch to vagus nerve ."phrenic"
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Fig. 235: Distribution of the cervical plexus.



7. All the following are cutaneous branch of cervical plexus
 ,except : 
A. Great auricular C2,3

B. Lesser occipital C2

C. Transverse cervical C2,3

D.lesser auricular c2,3 
E. Supraclavicular C3,4

8. All the following are muscular branch of cervical plexus
 ,except : 

A. to  rectus capitis anterior
B. to Trapezius 

C. - to sternomastoid 

D. to levator scapulae

E.  to platsma  

